
Mathematical problems (1)

1, In CP, there're thirteen boys and twelve girls.
How many people are there in CP ?

Calculation : 13+12=25

Answer : in CP, there're .twenty-five people.

2, In CE1, there're twenty-six pupils and one teacher.
How many people are there in CE1 ?

Calculation : 26+1=27

Answer : in CE1, there're twenty-seven people.

3, In CE2, there're twenty-four pupils and two teachers.
How many people are there in CE2 ?

Calculation : 24+2=26

Answer : in CE2, there're twenty-six people.

4, In CM2, there're twenty-seven people. There're thirteen boys.
How many girls are there in CM2 ?

Calculation : 27-13=14

Answer : in CM2, there're fourteen girls.
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